List of isotropic sequences for the (7,7)-generic Enriques
surfaces

Riccardo Moschetti, Franco Rota, and Luca Schaffler

This is an ancillary document to the paper “The non-degeneracy invariant of Brandhorst
and Shimada’s families of Enriques surfaces” where we provide explicit non-degenerate
isotropic sequences for the (7, T)-generic Enriques surfaces.

(1)end(Y7) > 7.Sequence: 3 (Ro+R1), 3 (Ro+R2), 3(Ro+R3). 1 (Ro+Rio), 3 (Ro+Ri1), 3 (Ro+R12), 4 (Ro+ Ri3).
(2)nd(Y2) = 10. Sequence: 4 (Ro+R4). 3 (Ro+Re). 3 (Ro+R12), 3 (Ro+Rys), 3 (Ro+ R9), 3 (Ro+R31)., 3 (R + Ry),
$(R1+R3), } (R + Rn), (Ro+Ry).

(3)nd(Y3) = 10. Sequence: 3 (Ro+Rs4). 3 (Ro +Ro). 3 (Ro+Rio). 3 (R1 +R3), 3 (R1 +Re). 3 (R1 +R11), 3 (R2+Rs),
3 (Ry+R7), (Ry+Rg), 3(Ro+ R + Ry).

(@)nd(¥s) = 10. Sequence: 3 (Ro +Re). 3 (Ro+ Ro), 3 (R1 + R19). 3 (Ro+ Rg). 3 (Ro+ Rag). 3 (Ro+Ra1), 3 (R +Ry),
3(Ri+Rss), 3(R2 + Ri1), 5 (Ra + Ryy).

(5)nd(Y5) = 10. Sequence: § (Ro+ R10). 3 (Ro+ R12). 3 (R1 +R7), 3 (R1 +R13). 3 (Ra+ Ri6). 3 (Ra +Rs). 5 (R4 + Re).
1 (Rg +Ri6), 3 (Ris + Ri6), 1 (R3 + Ryp).

(6)nd(Ys) = 10. Sequence: § (R79 + Ri24). 3 (R79 + R19). 3 (R120 + Rg). 3 (Ro + R11), 3 (R7a + Rg). 3 (R79 + Ro + Rig).
3 (Ri20+Rs +Rig). 3 (Rg + Rs + Rig). 3 (Ro + Rg + Ro). 3 (Ri1 + Rg + Ro).

(7)nd(¥;) =10. Sequence: 3 (Ro+R7). 3 (R1 +Ras). 3 (Ry+Rg), 3 (Ry+R13), 3 (R3 + R4). 3 (R3 + Ry5). 1 (R7 + Ry2),
3 (Ro+ Ra4), 5 (Rio+ Roa), 3 (Riy +Roa).

(8) nd(¥g) = 10. Sequence:  (Ro + R9), 3 (Ro + Rs1), 3(Ro+Ri1). 3 (Ro+ Rao4). 3 (R + Ry). 3 (R + Rp2), (R +
R40). 3 (Ry+ Rsg). 3 (R3 + Res), 5 (R3 + Roy).

(9) nd(Yy) = 10. Sequence: 3 (Ro + Ro), 3 (Ro + Ris5), 3 (Ri + R7), 3(Ri + R12), 3 (Ro + R13), $ (R2 + Ris), 3(R3 +
R). 3 (Rg + Rag). 3 (Rio + Rap). 3 (Ri6 + Rap).

(10) nd(Y10) = 10. Sequence: + (Ro + R23), 3 (Rs + Rog), 3 (Ro + Ri01), % (Rio + Ri01), % (Ro1 + Rog), 3(R1 + Ra1),
3 (R +Ros), 1 (Ry + Rog), 3 (Rs + Ro1), 3 (Ri + Ra3 + Rop).

(11)nd(Y1;) = 10. Sequence: 3 (Ro+ Rys), 3 (Ro+ Ri6), 3 (Ro+ Rio), 3 (Ry+R11), 3 (R3+Ro), 3 (R7+ R»), 3 (Ryy +
R12), 3(Rii +Rar), 3 (Ri +Ri7), 5(Ro+ Ry + Ryy).

(12) nd(Y1;) = 10. Sequence: § (R + Ra1), 3 (Rz + Rag), 5 (Rs + Ra9), 4 (Rs + R30), 3 (Ro + Rys), 3 (Ro + Rs + Rao),
1(R3+Rs+R7), $(Ro+R7 + R +Ro), 1 (R{ + Ry + Rs + R7), $ (Ri + R7 + Rs + Rog).

(13) nd(Y33) = 10. Sequence: 1 (Rg + R19), § (R3 + Ro), 1 (Ro + Ry + Ry + Rg),  (Ro+ R1 + Ri7+ R3), 1 (Ro + Ry +
Ri7+Ro). 5 (Ro+R; +Ris+Rg). (Ro+Rs+Ri7+Rg), 3(Ro+ R+ Ri7+Rg), (R1 + Rig + Rg + Ry7), 3 (R +
Ris+ Rg + Ry7).

(14)nd(Y14) = 10. Sequence: 3 (Ro+Ro), 3 (Ro+R30). 3 (R1 +Rg), 3 (R2 + Ras), 3 (R3 + Ri), 3 (Rio+ Rag), 3 (Ryy +
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Ros), 3 (Ria+Ras). 5 (Ri3 + Ras). 3 (Ros + R3y).

(15) nd(¥is) = 10. Sequence: 5 (Ro + Ri2), 5 (Ro + Rig). 3 (Ro + Res), 3 (Ri + Ris), 5(Ra + Rss), 3 (Rs + Rar),
1 (Ro +Res). 2(Ry + R19). 5 (Ra + Rg7), (Ro + Rys).

(16) nd(Y16) = 10. Sequence: % (Ro + Ry2), (R0 + Ra1), 3(Ri2 + Rig), 3 (Ri + Ra), 3(Rz + Ro), 3 (R + Ray),
$(R3+Ris), 3 (Ri1 + Ry), 3(Ri2+ Rso), 3 (Ri3 + Rys).

(17) nd(Y17) = 10. Sequence: 3 (Ro + Rig), 3 (Ro + Ras), 3 (Ro + Ras), 3 (Ri + Ri7), 3(Rs + Ri9), (Ri7 + Ra),
$(Ri7+R7), 1 (Rig+ Ra1), 2 (Ri9 + R23), § (Ro + Ri7 + Ro).

(18) nd(Yjg) = 10. Sequence: 1 (Ro + Ri7), (Rz + Rig), $(R17 + Ras), $(R4 + Ri1), $(Rs + Rio), 5 (Rs + Rp2),
3 (R +R3+Ry7), $(R +Rs +Rg), 3(Rs + Ry + Rs), 1 (Ry + Ry + Ry7).

(19) nd(Y39) = 10. Sequence: § (Ro + R17), 3 (Ro + R20), 3 (Ro+ Ra2), 3 (R + Ris), 3 (R3 +Re). S (Rs + Rys). 3 (Ry +
R19), 3 (R3+ Ras), 3 (R7 + Ra7), $(Ry + Rs + Ry).

(20) nd(Y9) = 10. Sequence: § (R + Rz7), 3 (R3 + R19), 3(Re + Rx), 3 (Rio + Ria), 3 (Ris + Ra1). 3 (Rio + Ra2),
L(Ry+R»), L(R7+ R11). L(Ray+ Ry + Rig), 3 (Ry +Rs + Ris + Ry).

(21) nd(Y21) = 10. Sequence: 1 (Ro + R17), 3 (Ro + Rag), 1 (R4 + Ra7), £ (R + R19), 1(Ro + Ry + Ry + R12), § (Ro +
Rig+Ri +Rp2), 3(Ro+Ri1 + Ry + Ri2), 3(Ri + Ry + Ry + Rp2), 3 (Ri + Ry + Ry + Ri2), 3 (Ry + Rig + Ry + Rp2).
(22) nd(Y2,) = 10. Sequence: 1 (Ro + Ra0), 3 (Ro + Ra1). 3(R1 + Rig). 3(R1 + Ra7). 3(R2 + Rag). 3 (Rao + R31),
$(Ra1 + Ra4), 3 (R3+ R3), 4 (Ry + Ray), S(R1 + R3 + Rg).

(23)nd(Y33) = 10. Sequence: 3 (Ri2 + Ry5), 3 (Ro+R3 + Rg). 3 (Ro+ R4+ Ri3), 3 (Ro+ Rs + Ria). 3 (Ro + Ro + Ry1),
$(Ri+Rs+Ro), }(Ry+ Ry +Rus), 3 (Ry+Rs + Ri3), 3 (Ro+ R3 + Riz + Ro), 3 (Ri + Ry + Ry + Ry2).

(24) nd(Y24) = 10. Sequence: § (Ry + Rs), 3 (Rs + R14), 3 (Ri1 + R12), $ (Ro+ R3 + Ry + R7), 1 (Ro + Ry + Ry + R14),
$(R1+Rio+Re +Riz), }(Ry+ R3 + Riz + Ry + Ry), 3 (Ro+ Ry + Ry + Rig + R7), 1 (R1 + Ry + Ry + R3 + Ryo).
L(Ri + R4+ Ry + R + Rpp).

(25) nd(Yas) = 10. Sequence: 5 (Ro + Ra0), 5 (Ro + Rao), 3 (Ri + Ria), 3(Ri + Ris), 3(Ri + R31), 3 (Ri + Re3),
3 (Ri +R77), 5 (Ry +R72), 5 (Rg + Raz), (Ro + Ry).

(27) nd(Ya7) = 10. Sequence: }(Ro + Ris), 3(Ro + R»). 3(Ro + Ry3), $(Ry + Ra1), 3 (Ry + Ry), 3(Ra + Rye),
$(Ry+Rag), 3 (R3+ Ryg). 3 (Ry + Rg), 3(Rio + Ryp2).

(28) nd(Yas) = 10. Sequence: }(Ro + Rys), 3(Ro + Ro). 3(Ro + Ry3), (R + Ri7), 3 (Ry + Rig), 3(Ra + Rye),
$(Ry+Ry9). 3 (Ry + Rag). 3 (R4 +Ry), 3 (R7 +Rg).

(29) nd(Ya9) = 10. Sequence: }(Ro + Ra1), 3(Ro + Rys). 3(Ro + Rs1), 3(R + Rys). 3 (Ri + Rsp), 3 (Ra + Ryy),
$(R3+R30), 3 (R3 + Ry7), 3 (Rs + Rug), 5 (R4 + Rag).

(30) nd(¥30) = 10. Sequence: 5 (Ry + Ra2), 5 (Ra + Ri7), 5(Rs + Rs). 3 (Rs + Rsg), 3(Rs + Rss), 3 (Ri3 + Rs2),
$(Rag + Ra1), 3 (R37+ Rs2), 3 (Raz + Rs1), 3 (Rg + Raz + Rsp).

(31) nd(Y3;) = 10. Sequence: 3 (Ro + R20), 3 (Ro + Ra1), 3(Ro + R27), 3(Ri + Ro3), 3(Ri + Ras), 3 (Ry + R),
$(R2+Rag), 3 (R4 +R31), 3(Ro+ R31), 3 (Ry + Rg + R12).

(32) nd(¥32) = 10. Sequence: 3 (Ry +R3), 3 (R + R17), 3 (Ri + Ry), (R +Rs), 1 (R +Re), 1 (Ri + R7),  (Ry1 +
R33), 3 (Ri3+Ra1). 3 (Ria+ Rn). 3 (Ry +Ryg).

(33)nd(¥33) = 10. Sequence: § (Ro + Rao). 3 (Ro + Ra1), 3 (R17+ Raa), 3 (R1 + Rg), 3 (R1 +R7), (R +Ri1). 3 (Ry +
Ri3). 3 (Ri +Ras), 3 (Ry + Ry7), 1 (R +Rs).

(34) nd(Y34) = 10. Sequence: 3 (Ro + R3g), 3 (Ry + Ra1), 3 (Rs + Ri1). 3(Re + Ra1), 3(Ri1 + Rn2), 3 (Rus + Ray),
3 (Ra1 +R33), 3 (Ra1 + Ry9), 3 (R7 + Ray), § (Ro3 + Rao).

(35) nd(Y3s) = 10. Sequence: }(Ro + Rps), 3(Ro + R34). 3(Ry + Ra7), 3(Rz2 + Ry9). 3(R3 + Ry), 3 (R3 + R33).
$(Ro+Rag), 3 (R + R3)., 2(Ri +R32). $ (Ro+ Ry + R3).
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(36) nd(Y34) = 10. Sequence: (Ry + R4), 3 (Ro + Rs + Ro), 3 (Ro+ Rio + R11), 3 (Ro+ Ri2 + Ri3), 3 (Ro + R1s + Rys),
$(RI+Ri3+R14), 3(Ro+ Rig+ Ri2), $(Ry +Ri1 +Ri3), 3 (Ro+ Rio+ Ry + Ri3), 3 (R1 + Ry + Rs + R3).
(37)nd(¥37) = 10. Sequence: 5 (Ro+R1), 5 (Ro+Rs), 5 (Ro+Ro), 3 (Ro+Ri3), 3 (Ro+Rar), 3 (Ro + Ras), (Ro + i),
$(R2+ R+ Rn), 3(Ry+Riu+ Ri7), § (R + Riz + Ry7).

(38) nd(Y3s) = 10. Sequence: 5 (Ro+ R1), 3 (Ro+R2), 3 (Ro+ R12), 3 (Ro+ R13),  (Ro + Ro), 3 (Ro + Rio).  (Ri7 +
R1), 3(Ro+Ris), $(R3 +Rs+ Ry + R11), 3 (Re + Rg + Ry + R14).

(39) nd(Y39) = 10. Sequence: (R + Rag), 1 (Ro + R27), 3 (Ro + Ra9), $(Ry + Rig), (Ry + Ra3), L(Ry + Ray),
$(R2+Ros), 1 (R3 + Rn), 3 (Rs + Ryg), $(Ro + Ry +R3).

(40) nd(Yso) = 10. Sequence:  (Ro + Ri9), 1 (Ro + Ra0), 3 (Ro + R33), $(Ri + Rao), 3(Ri + R), (Rz + Ra),
$(R2+Rag), 3 (R3+ R3), 1 (Ry + Rys), $(Ro + Ry + Re).

(41) nd(Y41) = 10. Sequence: (Ry + Rs), (R3 + R7), 5 (Ro+ R7 + Rs), (R + Ry + Rg), 1(Ri + Ry + Rp2), L (R +
Rio+Ri1). 3 (R2+R7+R12), 3 (Rg+ Ry + Ro), 1 (Ro + Ri1 + Ri2), 3 (R1 + Rg + R + Ry2).

(42) nd(Ys2) = 10. Sequence: 1 (Ro + Ry9), 3 (Ri + Ry3), (Ro + Rg), 1 (Ro + Ry + Ry + Rs), 1 (Ro + Ry + Ry + Ryp),
L(Ro+Ri + Ry +R3), L (Ry+ R +Ri6+ R7), $ (Ro+ R3 + Ry + R7), L (R + Ry + R3 + Rig), § (R1 + Ry + Ry + Ry).
(43) nd(¥y3) = 10. Sequence: § (Ro + Ro), 3 (R2 + Ry5). 3 (Ra+ Rig - Ho). 3 (Ry - Hy+ Ry - Hy). 3 (Ria + Rys - Ho).
3 (Ro+Rig+Rio - Hp), 3(Ro+Rio+Ri3- Ho). 3 (Ro+ Ria+Ri1 - Ho), $(Ro+Riz + Riz - Ho), 3 (Ry+ Ry + R7 -
Hy).

(44) nd(Ys4) = 10. Sequence: 5 (Ro + R29), 3 (R4 + Ras), 3 (Re + Ry7), 3 (Ri0 + Rag). 3 (Ris + Ra3), 3 (Ras + Ras),
3(Rs+ Ry + R3g). 3 (Rg + Ry + R36). 3 (R1o+ Ria + R34), 3 (Ria + R34 + Rye).

(45)nd(Y4s) = 10. Sequence: 3 (Ro + Rij + Ris), 2 (Ry + Re + R13), (R + Rg+ R12), 2 (R3 + Rs + R12), § (R4 + Rs +
Ri3). 3 (Rs+Rig+Ri4). 3 (Rg+ Ro+ Ri4), 3 (R7+ Riy + R13), 3 (Ro+ Ry + Ri3 + Rig), 3 (Ry + R3 + Rs + Rg).
(46) nd(Yy6) = 10. Sequence: § (Ry + R7 + R + R11), 3 (Ro+ Rg + Rg + Ro), 1 (R3 + Ry + Rig + Ro), 3 (Ro+ R7 + Ry +
Ri+R3+Ro), }(Ry+R7+ Ry + Ry + R3 +Rg), 1 (Ro+ Ry + R3 + Ri + Ry + R11), 3 (Ro+ Ro + R3 + Ry + Ry + Ry1),
(R +Ry+ Ry + Ry +2Ry), (R + Ry + Ry + Ry + 2R3), § (R7 + Rs + Ro + Ry +2Ry).

(@7) nd(Y47) = 10. Sequence: 5 (Ro + R4+ Ry + Rs + Ry + R7), (Ro+ Ry + Ry + Ro + Rg + Rg), 3 (Ro + R4 + R3 +
Ry+Rs+Rs), }(Ro+ R4+ Ry +Rs+ Ro+ R7), 1 (Ro+ R7 + Ry + R3 + R + Rg), 3 (Ro + R7 + Ry + Ry + Rs + Ry),
$(RI+R4+R3+ Ry + R7+ Ro), 3(Ri + Ry + R3 + Ro + Rs + Rs5), 3 (Ri + Rs + Ry + R3 + Rg + Ro), 3 (Ry + Rs +
Rg+ R+ Rg +R7).

(50) nd(Ysp) = 10. Sequence: (R + Rag). 3(Ro + Ra1). 5 (Ro + Ry7), 3(Ry + Rig). 3(R3 + R39), 3 (Rs + Ra3).
3 (Ris +R33), 5 (Ri7+ R39), 4 (Rig + Ras), 3 (Ra + Ryo).

(51) nd(Ys;) = 10. Sequence: 4 (Ro + Ra), 3 (Ro + R31), 2(Ro + Rs4), 3 (Ri + Ri9), 3(R + R32), 3 (Ry + Rag),
$(R3+Ras), 5 (Rs + Ra9), 3 (Rs + Rn), (R + Rag).

(52) nd(Ys) = 10. Sequence: 5 (Ro + Rg), 5 (Ro+ Ri4). 3 (Ro + Ra7), 3 (Ro+ Re3), 3 (R1 + R7), 3 (Ra+ R7), 3 (Ra+
R13), 3(R7+ Ru). 3 (R7 + Re2), 5 (Ras + Res).

(54) nd(Ys4) = 10. Sequence: 1 (Ro + Ra3), 1 (Ro + R27), 3 (Ro + Rag), $(Ry + Ras), (Ry + Rag), $(Rz + Raa),
1(R3+R30), 3 (R3+ Ryg), 3 (Rs + R33), S (R + R3 + Ryp).

(55) nd(Yss) = 10. Sequence: 3 (Ro+ R1), 5 (Ro+R7). 3 (Ro+Ri2), 3(Ro+Rs), 3 (Ro+ Ri1), 3 (Ro+ Ryg). 5 (Ro +
Ra4). 3(Ris + Rx). 3 (Ry+ Ry + Ro), 3 (Rs + Rs + Ryp).

(56) nd(Ysg) = 10. Sequence: % (Ro +R4), 3 (Ro+ R13), 3 (Ro+Ris), 3 (Ro + Ri6), 3 (Ro+ Ras). 3 (Ro + Rag), 3 (Ro +
Rg), 3(Ri +R32), (R + Ro1), 3 (Ry + R3 + Rg + Ry).

(58) nd(Ysg) = 10. Sequence:  (Ro + Ras), (Ro + R37), 3 (R3 + R3g), $(R4 + R31), (Ro + R33), 3(Ri + Ra3).
$(R1 +R36), 3 (Ry+ Rag), 4 (R + Rag), $(Ro + Ry +Rs).
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(59) nd(Yso) = 10. Sequence: }(Ro + Ras), 3(Ro + R31). 3(Ry + Ryg), 3(R3 + R3), 3 (Ry + Ry), 3(Rs + Ryo),
$(Ro+R37), 3 (Ri + R3), 3 (R + R33), §(Ro + R3 + Re).

(60) nd(Ys0) = 10. Sequence: (R + Ry2), (Ry + Ri1), (R + R4+ R7), 1 (R + Rs + Ris), 5 (R1 + Rg + Rig). 3 (Ry +
Rig+Ri3), 5 (Ry+Rs+Rio), 5 (R3 + Rs + Rig), 3 (Rs + Ry + Ri3), 5 (Ri + Rs + R3 + Ry).

(61) nd(Yg1) = 10. Sequence: 3 (Ro + R1), 3 (Ro + Ro), 4 (Ro+ R19), 3 (Ro + Ri6), 3 (Ro+ Ra1), 3 (Ro + Raz), (Ro +
Ri3), 3(Ry+Rs+Ri1), $(Ry + Rg + Roa), 3 (R7 + Ri3 + Ryg).

(62) nd(Yg>) = 10. Sequence: § (Ro +Ri4), S(R2 +Ry7), (R + R3), 1 (R + Ry), 1 (R2 + Ris), L (Ra + Ryg), 3 (Ra +
Ri1), 3(Ry+Rp2), 1 (Rs + R+ Rg + Ry3), 3 (R7+ Ro + Ri3 + Ryp).

(63) nd(Ye3) = 10. Sequence: 1(Ro + Ri1), 3(Ro + Ris). 3(Ro + Ry). $(R7 + Ri9). 3 (Rg + Ri3), 3(Ro + Ryg).
(Ro+Ri17), 1 (R1 + Ry +Rs + R3 + Rig), $ (Ri + Ry + Rs + Ry + Ri7), § (R3 + Ry + Rg + Ry + 2Rs).

(64) nd(Ye4) = 10. Sequence: 1(Ro + Ras), 3(Ro + R33), 3 (Ry + Ry9), $(R2 + R32), 3 (Ry + Ra1), 5 (R4 + Rae),
3 (Ro+Ra). 3 (R +R3o), 3(R7 +R39), 3 (Ry+ Ry + Ry).

(65) nd(Yss) = 10. Sequence: }(Ro + Ra4), 3(Ro + R30). 3(Ro + Ra1), 3(Ri + Ry9). 3(Ri + R3y), 3 (Ry + Rag).
$(R3+R33), }(Rs + R39)., 3 (Ri3 + R3o)., S (R + Ry + Ry ).

(66) nd(Yss) = 10. Sequence: & (Ry +R2), 5 (Ra+ Ry9), 1 (Ra+ Ra1), 1 (Ro + R7), L (R + R10), 3 (Ro + Rap), £ (Re +
Ri2+Ri3). 3 (Re+Ri5+Rig). 3 (Ri2+ Ris + Rig). (R + Ri2 + Rys).

(67) nd(Yg7) = 10. Sequence: § (Ro + R3o). 3 (R2 + R33), 3 (R1+Ro), 3 (R1 + R19). 3 (R + Ry5), (R +Ri7), 3 (Ry +
Rig). 3 (R1 +Ra4), $ (R + R31), (R2 + Rs + Rig + R7).

(68) nd(Yes) = 10. Sequence: 3 (Ro + Ry). 3 (Ro+ Rg)., 3 (Ro + R27). 4 (Ro + Ro), 3 (Ro + Ris5). 3 (Ro+ Ri7), 3 (Ro +
Ras). 3 (R1+Ri6). 3 (R3+ Rag), 3 (R3 + Ry + Rs + R2).

(69) nd(Ys9) = 10. Sequence: (Ro + Ra3), 3(Ro + R34), 3(Ro + Ras), 3(R1 + R3g), 3 (R1 + Raz), 3 (Ry + R3g),
$(Ry+Ra1), 3 (R3 +R36), § (Ry+Ra3), 5 (Ro + R3 + Ry).

(70) nd(¥z0) = 10. Sequence: 4 (Ro + Ra1), 3 (Ro + Rx2), 5(Ro + Ras), 3 (Ri + Ra1), 3 (Ri + Ra), 5 (R + R33),
$(Ry+ Rug). 3 (R3 + Ras), 3 (R4 + Ra7). 3 (Ro+ Ry + Re).

(7)) nd(¥7;) = 10. Sequence: } (R + R3), $ (R2+ Ro), 1 (Ro + Rys), (R + Rs), $ (Ro+ Riy + Ra+ R12), 3 (Ro + Riz +
Ri+Ris), $(Ri +Ro+ R4+ R7), 3(Ri + Ry + Rio + R14), 3 (R4 + Rs + Ry + R7), 3 (Ry + Re + Ris + Ryy).
(72)nd(Y72) = 10. Sequence: § (Rig+R11), (Ro+R11), 3 (Ro+R7 + Rg+R13), § (Ro+Rs + Rg+ Ro), 1 (Ro + R7 + Ry +
Ri+R3+Ro), }(Ry+R7+Rs+ R +Ri2+Ro), $ (R| + R3 + Ry + Rg + R7+ Rs), 3 (Ry + R4+ Ry + Rs + Ro + R12),
$(Ro+R3+Rg+Ri2+2Ro), § (Ro+ Ry + Rs + Rg +2R7).

(73)nd(Y73) = 10. Sequence: 5 (Ri +Ra), 3 (R +R3), 3 (R1 + Ri6), 3 (Ri + Ri17), 3 (R + R13), 3 (R1 + Ra), 3 (R +
Ry9), 3(Ro+Rig+Ro +Rig), (Ro+ Ri1 + Ro+ Ri2), 3 (Rg + Ri1 + Ris + Rp2).

(74) nd(Yy4) = 10. Sequence: (R3 + Rg), 2 (Ro+ R4+ Ri + Rs + Ry + Rg), 3 (Ro+ Ry + Ry + Rjo + R7 + Ro), 3 (Ro +
Ry+R3+Ry+Rs+Ro), 5 (Ro+ R4+ R3+R7+ Rio+Rg), S (Ro+Rs + R + R3 + R7 + Ro), } (R{ + Ry + R3 + Ry +
Rg +Ri0). 5(Ri +R4+R3+R7 + Ro+ Rs), 3(R{ +Rs + Ry + R3 + R7 + Ryo). 1 (Ra + Rs + Ry + R7 + Ryo + Rg).
(75) nd(Y75) = 10. Sequence: I (Ro + Rag), 3 (Ro + Ra9), 3(Ro + Raz), 3 (Ri + R3g), 3(Ri + R3o). 3 (Rz + Rxg),
$(Ry+R37), 1 (R3 + Rar), 1 (R4 + Ras). 3 (Ro+ R + Re).

(76)nd (Y76) = 10. Sequence: (Ro + R12), (Ry +Ris), (Rs +Rio), 1 (Ro + Rs + R14), 1 (R) + Ry +Rs), L (R| + Rg + Ri),
$(Ri+R7+R17), 5(Ri + Ry +R13), 3 (Ra+ Rz + R17), 3 (Rg + Rio + R13).

(77) nd(Y77) = 10. Sequence: (Ro + R13), (Rs + R11), (R + R12),  (Ro+ Rs + R12), 1 (Ry + Rs + Rig), S (Ry + Ry +
Ri4). 3 (Ry+R7+R11), (R3 + Rg+ Ri7), 3 (Ry + Ri3 + R17), 3 (Re + Rig + Ra).

(78) nd(¥78) = 10. Sequence: 4 (Ro + R12), 3 (Rs + Ro - Hy), 3 (Rs + Rio - Ho). 3 (Ro + Ry1 - Ho), 3 (Rio + Ry1 - Ho),
$(Ry - Ho+R3 - He - Ho), (Ry + Ri1 - Ho), (Ry + Rg), 3(Ro+ Rs + Ryy - Hy), 3(Ri + Ry + R3 + Ry +2Rs).
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(79) nd(Y79) = 10. Sequence: (Ry + Ri4), (Ry + Ri3), 3(Ro + Rio + Ri1), 3(Ro + Riz + Ri3), 3(Ry + Ry + Rys),
$(Ry+Ry+Ri4), 3 (R +Rg +Ro), 5 (Rs + Ry + Ris), 5 (Rs + Ry + Ria), 3 (R + Rs + Ris + Ry).

(80) nd(Yso) = 10. Sequence: 3 (R; + Ri6), 3 (Ro + R13), 3(Ro + R17), (R3 + Ri3), (Rg + R12), 3(R7 + Ro + Rig),
$(R7+Ri7+Rys), 5(Ri+R3+ Ry + Rip), (R +R3 + Rs + Rg), 3 (R + R3 + Rs + Rpp).

(81)nd(¥s)) = 10. Sequence: 3 (Ro + Ra2), 5 (Ri +Ra3), (Ro+Ra1), 3 (Ro+ Ri3 + Ry + Ris), 5 (Ro+ Ri3 + Ry + Rig),
$(Ro+Ri3+R3+Rus), 5(Ro+Ri3+ Rs + Rig), 3(Ro+ Ris + Ry + Rig), 3(Ry+ Ri3 + R3 + Rig), 3 (Ry + Ri3 +
Rs +Ry4).

(82) nd(Ysy) = 10. Sequence: (Ro + R3 + Ro), (Ry + R + R7), L (Ro+ Ry + Ry + Ryg), S (Ry+ R7+ Rig+ Rg), § (Ro +
Ry +Rs+ Ry +Rs), L (Ro+Rs+ R+ Ry +Ryg), $(Ro+ Ry + Rs + Ry + Ro), L (R + Ry + Rs + Ry + R7), $(Ry +
R7+Rg +R3+Ro), 1 (Ry+ Rs + Ry + Ry + R + Rg).

(83) nd(Ys3) = 10. Sequence: (R + Rig + Ri1), 2 (Ro + Rio + Ry + R12), S (Ro + Rig + Rs + R13), § (Ro + Rip + Ry +
Ri4), 3(Ro+ Ry + R3 +Ri2). 3(Ro + Ri1 + Ry + Ri3), (Ro+ Riy + R7 + Ris), 1 (Ri + Re + Ri3 + Ris), 3 (R +
Ro+Ri2+Ris), 3 (Re+Ro+ Rz + Ri3).

(84) nd(Yss) > 9. Sequence: 1 (Ro+ R - Hs), 1(Ri +Rs - Hy + Re + Ry - Hy), (Ry +Rs - Hy + Rs + Ry - Hy), (Ry +
Ry +Ry+R7), J(Ro+R3+Ry+R7+ Ry + Ry - Hy+Rs), $(Ro+ R3 + Ry + R7 + Ry + Rs - Hy + Rs), L (Ry + Ry +
Ry+R3+Rs+Rs+Rs - Hy), (R + R+ Ry + Ry + Rs + Rs + Ry - Hy), $ (Ro+ Rs + Rs - Hy + Ry - Hy +2Rs).
(85) nd(Yss) > 7. Sequence: (Ro+ R3 + Ry + Ry + Ry + Rs), S (Ro+ R3 + Ry + Ry + Ry + Rg + Ry + Ro), 1 (Ro + R3 +
Ry+R7+Ry+Rg+R3g+Rs), $(Ro+Rs+Rs + Ry + Ry + R7 + Ry + Ry), 1 (Ry + Rg + R3 + Ry + 2R3 +2Rs +2Ry),
1(Ri +R7+ Rs + Ry + 2Ry + 2R3 + 2R0), 1 (R3 + R7 + Rs + R + 2R4 + 2R} +2Ry).

(91) nd(Yy1) = 10. Sequence: 4 (R7 + Ri2), §(Ro+ R7), 4 (Ri +Ry), $(R7 + Rg), 3 (R7 + Rn), § (R7 + Ryp). 3 (Ry +
Ri0). 3 (Ris + R3), 3 (Rig + Ro4), 3 (R + Ro + Ry3).

(95) nd(Ys) = 10. Sequence: % (Ro + Ras), §(R1 + Raa), 3(Ry + R30), §(R3 + Rsz), 3(Ro + R37), § (R + Rss),
3 (Ro+R39), 5 (Ri +Rap), 3 (Ry + Ry3), 3(Ro+R3 + Ry).

(96) nd(Yog) = 10. Sequence: 3 (R; + Ry), 3 (Ry + Rio). 3 (R2+Ri6). 3 (Ra+ Rao). 3 (Ry+ R;). 3 (Ry + Ra3), (Ry +
Ri9). }(R3 + Rg+ R11), 3 (R3 + Rg + Rys), 3 (Rs + Rg + Ray).

(97)nd(Yo7) = 10. Sequence: § (Ry +Ry), 3 (R1 +Rs). 3 (R1 +R19). 3 (Ry + R12). 3 (Ra + Rie). 5 (R + Ros). 3 (Rus +
Ris). 3(Ro+Ro+ Ry + Ry3), 3 (Ro + Ry + Ry + R1). 3 (R7 + Ro7 + Rig + Rog).

(98) nd(Yog) = 10. Sequence: % (Ro + Ryo), §(Ro + R34), 3 (R1 + Ra1), 3(Rs + Ras), 3 (R4 + Rig), 3(Rs + Ris),
3 (Ro+R32). 5 (Ry + R39). 3 (Rg + Ry3), 3 (Ro + Rs + Ryp).

(99) nd(Yoo) = 10. Sequence: J (R; +R>), 5 (R1 + Rg), 3 (Ri + Ri3), 2 (R + Ro), 1 (R +Ry9), § (Ry + Rao).  (R3 +
Rs+Rip), 3 (R3 + Ry + Rn), 3(R7 + Rig + Ris), (R3 + R7 + Ryp).

(100) nd(Y10) = 10. Sequence: 3 (Ro + Ra2), 3 (Ri + Rio), 3(Ri + Ri1), 3(Ri + Ris), 5(Ri + R37), 5(Ry + Ry),
$(Rs+Rs), 3 (Rs + Ro), 3 (Rg + R34), 3 (R17 + R3s).

(101) nd(Y10;) = 10. Sequence: 3 (Ro + Ras), 5 (Ro + R3). 3 (Ro + Rag). 3 (R1 + Rag), 3 (Ri + Ruz). 3 (R2 + Ray).
$(R2+Ra3), 3 (R3 +Rag), 3 (Rs + R33), 3 (Ro + Ry + Rg).

(102) nd(Y102) = 10. Sequence: % (Ro + Rio). 5 (Ro + Ris). 3 (Ro + R19), 3(Ro + R32), 1 (R + Ri4), 3(Rs + Ru),
3(Rs+Ris). 3 (Rig+Rap). 3 (Ry+ Rp). §(Ry + R3g).

(105) nd(Y105) = 10. Sequence: § (R +Rs). 3 (R2 + R19). 3 (R3+ Re). 3 (R3 + Rig). 3 (Ry+ Rp2). (Ry + R13). 3 (Ro +
Ri3+R7+Ris), 3 (R + Ry + Rys + Rig), 3 (R7 + Rg + Ri7 + Ri3), $(Rg + Rig + Rig + Rys).

(106) nd(Yie6) = 10. Sequence: 3 (Ro + Ri7). 3(R2 + R3), 3(R2 + Ris), 3(R2 + Ris). 3(Ry + Ra1), 2(Rz + Ry),
$(Ry+Rig), 3 (Ry+ Ri9), 3 (Ry + Ryy + Rig + Ryg), 3 (R7 + Rz + Rig + R13).

(107) nd(Y107) = 10. Sequence: 1 (R1g + R13), (R4 + R12), 1 (Ro + Rs + Rs + Ro), 3 (R3 + Rg + R4 + Ro), § (R + Ry +
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Ri+Ri+Ri4+Rg), 5 (Ro+R7+Rs+R; +R3 +Rg), 5 (Ri + R3 + Rg + Ro + R7 + R4), 3 (R1 + Rs + Ry + Rg + Rg +
Ris), 5 (Ro+ Ry +Rs +Rs +2R7), 1 (R3 + Ry + Rs + Ri4 + 2Ry).

(109) nd(Y;00) = 10. Sequence: (R + Rg), (Rs +Rs), 3 (Ro+ R4+ Ri + Rs+ Ry + R9), 1 (Ro+ R4 + R3 + Ry + Rs + Ryp),
1(Ro+Ro+Ro+R3+R7+Ry0), 5 (Ro+Ro+ Ry + R +Rs + Rig), }(Ri + Ry + R3 + Ry + Ry + Ry1), 3 (R + Ry +
R;+R7+Rio+Rs), }(Ri+Rs+ Ry +R3 + R7 + Ry1), (Ro + Rs + Rig + R7 + Ry + Ro).

(110) nd(Y110) = 10. Sequence: 3 (Ro + R31), 3 (Ro + Rao). 3(Ro + Raz), 3 (R + Rao), 3 (Ry + R3s5), 3(Ry + Ry3),
1 (Ry+R39), 1 (R3 + Ras), 1 (R3 + Rag). $ (Ro+ Ry +R3).

(111) nd(Yi11) = 10. Sequence: (R + Rg), (Rs + Ris), (R7 + Rig), 3 (Ro + Ris + Rig), 3 (Ro+ Ri7 + Ris). 3 (R +
Ris+Rig). 3 (R +Ri6+Ri7), 1 (R3 + Ris+ Ri6), 3 (Ro+ Ri3+ Ris), 3 (Ro+ Ri3+ Ri4).

(112)nd(Y112) = 10. Sequence: (Ro + R1g), (Rs + Ris), (Rs + R14), 3 (Ro+ Ris + Ris5), 3 (Ri + Rs + R17), L (R) + Rg +
Ris). 3 (Ry+Rg+Rig), 3 (R3 + Rs + Rys), 1 (R3 + Rg + Ri7), 1 (Rs + Ro + Ry3).

(113) nd(Y13) = 10. Sequence: 3 (Ro + R23), 3 (Ry + R23), (Ro + Ro3), 3 (Rio + R23), 3 (Rot + Ra3), 4 (Ro3 + Rog),
(R2+Rp3), 5 (Ry+Rs +Ri1), 3 (Ry+ Ry + Ros), 3 (Ry + Rg + Rog).

(114) nd(Y114) = 10. Sequence: § (Ry + R3), 3 (R2 + Re), 3 (Ra+ R7), 3 (Ry + Ra3), 3 (Ry + Ra), 3 (Ry+ R7), (Ra +
R17). 3 (Ro+ Ri7+Rig), 3 (Ri + Ryo + Ra1). 3 (R + Ri7 + Ryo).

(115) nd(Yy;5) = 10. Sequence: + (Ry + R7), 3(Ri2 + Ris), 3(Ri3 + Ris), 3 (Ra + R3), 2(Ry + R11), 3 (Ry + Ray),
$(R2+R4), 3 (Ry + Rig), (Ry + Ryg). 3 (R2 + Ryo).

(116) nd(Y116) = 10. Sequence: (Ro + Ri6), (R2 + Ri1), (R3 + Rig). 3 (Ro + Rig + R11), 3(Ry + Ri3 + Rua), 3 (Rs +
Rio+Rp2), 3(Ro+Riz +Ri3), 3(R + Rs + Rg). 3 (R + Rz + Ry5), 3 (Ra+ Ro + Rye).

(117) nd(Y117) = 10. Sequence: 3 (Ro + R3s), 3 (R4 + R34), 3(R1 + Rg), 3 (Ry + Ro), 1(Ry + Riy), 3(R1 + Rye),
$(R1+R17), 3 (R + R30). 3 (R1 + Ryg), $(Ro+ Ra1 + Riz + Ra).

(118) nd(Y118) = 10. Sequence: § (Ry + Rg), 3 (R2 + R10), 3 (Ra+ R11), § (R + Ri2), 3 (Ro+ Rs + Ry + Ri6), 3 (R3 +
Ri+Ri6+R13), 5(Ro+ Ry + R+ Ry + R14), 3 (Ry+ R4+ Ry + Rs + Rs), (R + Ri3+ Ry + Rs + Ri4), } (R3 + Ro +
R+ R7 + Ry3).

(119) nd(Y19) = 10. Sequence: 3 (R4 + R7), 1 (R4 + R12), $(Rs + Ry9), (Rs + Rg), 3 (Ro + Ri3+ Rg + Ri6), 5 (Ro +
Ri4+R3+Ri5), 3 (Roy+Ris +Ro+Ry7), 5 (Ro+Ri7+ Ry + Rig), 3 (R + Rij + Ris + R17), 3 (R3 + Rip + Rig + Ry4).
(120) nd(Y120) = 10. Sequence: 5 (R3 + Rs), 1 (R3 + R12), 3 (R3 + Ry9), (R3 + R7), (Ro + Ri3+ R7 + Ri6), 5 (Ro +
Ris+Ry+Ris), 5 (Ro+Ris + Ryt +Rig), 3 (Ro+ Ri7 + Ry + Rig), 3 (R + Ry + Rig + Ri5), 5 (Ra + Ro + Ri7 + Ris).
(121) nd(Y121) > 9. Sequence: 3 (R; + Ro), 3(Ro + Rig), 3(R3 + Ro), 3(Ro+ R3 - Hy), 5 (Ri1 + Ry - Hp), §(Ro +
Ry+Rsy+Rs+Ry+Rg+Rs - Hy), S(Ro+Rs + Rg+ Ry + Ry + R+ Rg - Hp), 3(Ro+ R +2R7 + Ry1 + Rp2),
L (Ro+ Ry +2Rs + Re + Ryy).

(122) nd(Y122) > 7. Sequence: 1 (Ry + Ro), (R2 + R7), (Ro+ R4 + Rs + Ry + Rig + Rg). 5 (Ro+ R4 + Rs + Ry + Ryo +
R7+R3+Ry1), }(Ro+ Ry +Rs +Rg + R3 + R7 + Rig + Rg), 3 (Ry + R7 + Ry + Ryy +2Ry0 +2R6 +2Rg), 3 (R4 + Rg +
Rg+ R7+2Rs5+2R;| +2Ryp).

(123) nd(Y123) > 7. Sequence: 3 (Rz + R3), S (R2 + Ri0). 3 (R2 +R11). (R2 + R12), $(Ro+Rs + R + Ry + Rio + Rg +
R4 +Ri3), $(Ro+Rs+Rs+Ro + Ry + Ry + Ri2 + R7), 3 (Ro+ R7 + Ri2 + Ry + Rg + Ro + Ry + Ry3).

(124) nd(Y124) = 10. Sequence: 1 (Ro + Ros), 1 (Ro + Rao), S (Ro + Ru3), (R + R37), (Ri + Rar), 1 (Ra + R3g),
$(Ry+Rao), 3 (R3 + R31), §(Rg + Raz), 3 (Ro + R3 + Ry).

(125) nd(Yi25) = 10. Sequence: % (Ro + R30). 3 (Ro + Ra1). 3 (Ro+ Ra1). 3(Ri + R37). 3(Ry + Ryp). 3 (R + R).
3 (Ry+Rs6). 3 (Ry+Ros), $(Ry +R39), 3 (Ro+ Ry + Ry).

(126) nd(Y26) = 10. Sequence: 4 (Ry3 + Ry). (Ro + Ria), (R + R7). (R2 + R12). (Rs + Ri). 3(Ro + Riz + R13).
T(Ri+Ri0+R13), 5 (Ry+Rs+Rys), (Ro+ Ro+ Ry + Ryg), 3 (Ri + Ry + Ry + Ry2).
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(127) nd(Y127) = 10. Sequence: } (Ro + Rag). 5 (Ro + R39). 3 (Ro + Rso). 3 (R + Rag), 3 (R1 + Ruz). 3 (R + Rap).
$(Ry+Ras), 5 (R3 +Rs1), 5 (Rs + Ra3), 3 (Ro + Ry + Rg).

(128) nd(Yizs) = 10. Sequence:  (Ry + R7), 5(Ra + Ria), 3 (Ry + Rn), 5 (Ra + Ri1), 3(Ra + Ry1), 5(Rs + Rs),
3 (Rs +Ra3), 3 (Re + Ro3), 3 (Ri1 + Ra1), (Ry + Rye).

(129) nd(Yi29) = 10. Sequence: 5 (R; + Rg), 3 (Ri2 + Ris), 5 (Ri3+ R14), (Ro + Ris), (Ry + Ry), (Rs + R14), 3 (R +
Ris+Ris), 5 (Ro+Ro +Rs + Ry + Rig + Ri1). 5 (Ro+Ro+ Rs+ R3 + Ry + Ri1), 2(R3 + Ry + Ry + R7 + Ro + Rs).
(130) nd(Yi30) = 10. Sequence: (R; + R12), (R2 + Ry0), (R3 +R7). 1 (Ry+ R7 + R12), 1 (Ro+ Rs + Ry + Rs + R3 + Ro),
L1(Ro+Rs+ Ry +R3 +Rg + Rig), $ (Ro+ Ry + Ry + R + Rg + Rig), 5 (R1 + Rs + Ry + Ry + Rig + Rg), 5 (R1 + Rg +
Ry+Ry+Rg+Ri), L(R3 + R + Rig+ Ry + Ry +Ry).

(131) nd(Y;31) = 10. Sequence: (Ro + Ry2), (R3 +R11). (Rs+Rg), S (Ro+ R3 + Rs), 3 (Ri + R + R2 + Rz + Ro + Ry1),
L(Ri+Rg+Rs+Ro+Rip+Ri0), $(Ri +Rig+ Ry + Rs + Ry + R11), $ (Ry+ Rg+ Rs + Ry + R + R7),  (Ry+ Ry +
R4+ Rs+Ro+Ry2), (Rs+R7+Ryj + Ry + Rix + Ryp).

(132) nd(Y32) = 10. Sequence: (Ro + Ra0), (R1 +R10). (R3 + Ri1). (R7 + Ry5). 3 (Ro+ Ri2 + Ri3). 3 (Ra + Rig + Rao).
$(Ro+Ri4+Rs), 3 (Ro+Ri2+Rii +Ri7), (R + Ro+ Ris + Ri7), 3 (Ro+ Riz + Ri1 + R + Ro + Rys).

(133) nd(Y333) = 10. Sequence: (R + R12), (R2 + Ro), (R3 + Ri1), $ (Ri + Rs + Rio + R12), 1 (Ro + Ry + Ry + R7),
1(RI+R3+ R4+ Ry + Rg), 1 (R1 + R3 + Ry + Ry + R12), (R + R3 + R+ Ry + R12), 1 (Ry + Rs + Ry + Ry + Rp2),
1(Ry+ Ry +R3 + Ryg + Ry2).

(134) nd(Y134) = 10. Sequence: § (Ro + Rig). 3 (Rio+ R17), 3 (Ri2 + Ry5), (Ro + R19). (R3 + Ri1), 3 (Ro + Rio + Ri3).
%(R()+R11 +R12), %(Rx +Rio + R12), %(Rx + Ry + Ri3), %(Rs + R4+ Ry + Ri9 +2R5).

(135) nd(Y;35) = 10. Sequence: 3 (Ro + Ris). 3 (Ro + Ryg). 3 (Ri1 + Ris), (Ro + Ri7), (R + Rys5), 3 (Ro + Ro + R2).
T (Ro+Ri4+Ri5), 3 (Ry+Ro+Riy), 5 (Ry+ Riy+ Ry5), 3 (R + R3 + Ry + Ry7 +2Rg).

(136) nd(Y136) = 10. Sequence: (Ro + Rig), (R3 + Ri5). 3 (Ro + Ri2 + Ri3), 3(Ro + Ris + Ris), 3 (R + Rs + Ryp).
3 (Ry+Rs+Rig). $ (R3+Ryy +Ri9), 5 (Ra+ Ry + Rig), 3 (Rg + Ro + Rig). 3 (Rs + Ry + Rig + Ry).

(137) nd(Y137) = 10. Sequence: (Ro + Ris), (Ri + Rio). 3 (Ro + Rz + Ri3), 3(Ro + Ris + Rys), 3 (Ro + Ryg + Ri7),
3(Ri+Rs5+R9), 5 (R + Ris+Ri7). 3 (R + Ris + Rig). 5 (R3 + Rio + Rig), 3 (Ro + Ris + Ry + Rye).

(138) nd(Y133) = 10. Sequence: 5 (R7 + Ry1), (Ro+ R1), (R1 + Rg), (R2 + Ro), 3 (Ro+ Rg + Rs + R12), } (R4 + Rg +
Rs+Ri3), $(Ry + Rs + Ro + R12), § (R4 + Ro + Rs + R12), 3 (Rs + Ry + Rg + Ro), 4 (R1 + R3 + Ry + Ry + Ryp).
(139) nd(Y139) = 10. Sequence: (Rg + R2 + Rj9), (R +R7+Ry1), (R4 +Rs+Ry), %(R0+R2 +Ro+ R +Rs), %(RO +
Rs+R7+ R +Ry0), 5 (R1 +R7+Rg+ Ry +Rg), $(Ri + Rio+ Ry + R3 + Ry1), $ (R2 + Ry + Ry + Rs + Ryp), 3 (R3 +
Ro+Rs+R7+Ry1), (R +R7+Re+Ro+ Ry +Ryp).

(140) nd(Y149) = 10. Sequence: (Ry + R3 + Ryp), (R; + R + R11), (Rs + R7 + Ry), %(Ro +R3+ Ry + Ry + Ryy),
$(Ro+R3+Ro+Rs+R4), $(Ro+Rio+Rs+Rs+Ri1), 5 (R +Ry+Ro+R7+Rg), 5 (R3 + Ry + Ry + Rs + Ryp),
$(Rs+Rs+R7+Rs+Ri1), (Ro+Rs+ Ry + Ry + Rg + Ryy).

(141) nd(Yy41) = 10. Sequence: 1 (Rg + R17), 3(Ri1 + Ris), (Ry +Rs), (R2 + R13), 3(Ro + R7 + Ro + Ry2), 3 (Ro +
R7+Rig+Ri3), 3(Ro+ Ry + Ri7+ Rg), 3 (Ro+ Rs + Ry + R13), 3 (Ro + Ry + Rio + R12), 3 (R7 + Ro + Rg + Ryp).
(143) nd(Y143) > 8. Sequence: (Ro+ Rs+ Rjo+ Rg), (R1 + Rg + R4 + R9), %(R0+R1 +Rs+Rs+R3+Ry+ R0+ Rg),
L(Ry+Ri +Rg+ Ry +R3 +R7+ Rig+Rs), 1 (Ro+ Ri + Ry + Ry + R3 + Ry + Rig + Rs), 1 (R + Ry + Ry + Ry + Ry +
R7+Rjo+Rg), %(Rz +R7+Rs+Ro+2R3+2Ry), %(R5 +Rg+ Rg+ Rg +2Ry +2Ry).

(144) nd(Y144) > 8. Sequence: (Rg + R4 + Rio + R¢), %(Ro +R4+R3+R9+Ry+Rg+R| +R¢), %(RO +Rs+R3+
R9+R7+Rsg+ Ry +Rs), %(Rl +Rs+Rio+Rs+R3+Ryo+R7+Rg), %(R2+R3 +Ri1 +Re+Rio+Rs+R3+Ry),
1(Ro+ Ry +Rig+ Ry +2Rg), § (Ro+ Ry + Rs + Rig +2R4), 5 (Ro + Rio + Ry + R7 +2R4 + 2R3 + 2Ry).

(145) nd(Y145) = 4. Sequence: (Ro + Ry + R3 + R4 + Rs + Rg + R7 + Ry), %(RO +Rg +Ri +R3+2R9 +2R7 +2R¢ +



8 R. Moschetti, F. Rota, and L. Schaffler

2Rs5+2R4), § (Ri + Rs + Ry + Ry + 2Ry + 2R3 + 2Ry + 2Ro +2R9), 3 (2Ry + 3Ro +4Ro + 3R7 + 2R + Rs + 2Rg + R3).
(154) nd(Yi54) = 10. Sequence: § (R + Ra), 5 (Ri + Ri1), 5 (Ri + Ras), 3 (Ri + Rig), 3 (Ri + Ris), 3 (Ri + Rag),
(R1 +Rig), 3 (Ro+Rao + Ra1), 3 (R3 + Ry + Ryg), 3 (R3 + Rig + Ro).

(155) nd(Y1s5) = 10. Sequence: 3 (Ro + Ry), 3 (Ro+Ro), 3 (Ro+Ry1). 3 (Ro +Rs),  (Ro+R23), 3 (Ro + Ryg), 3 (Ro +
Ro+Raa), 3 (Ry+Ri2 + Ri6), 3 (Rs + Rio + Rig), (Ry + R + Ryg).

(157) nd(Yis7) = 10. Sequence: 1 (R4 + Rg), 1 (R4 + Ris), 1 (Rs + Ro), 1 (Rs + Ri4), 3 (R4 + Ro3), (Rs + R7), 3 (Ro +
Ri7+R3+Rig), 5(Ro+Roo+ Ry + Ry1), 4 (R + Ri3 + Rig + Ryg), 3 (R3 + Ri3 + Ryp + Ri7).

(158) nd(Y158) = 9. Sequence: 3 (Ro + Rz). 3 (Ry + Ri6). 3 (Ry + Ry - Hp), 3(Rs + Ry). 3 (Rs + Ri2). 3 (Ry + Ry4),
(R> +Rg), $(Ri + R + Rs + Ri5 +2R7), S (Rs + R + Rs + Rg +2R).

(159) nd(Y150) > 7. Sequence: L (Ro+Ri3), $(R3 +R4), $(R3 + R11), $(R3 + R12), (R3 + Ris), (R + Rg + Ry +
Ry + R4+ Ry +Rs+Rys5), %(Rl +Rg+Ri4s+Ry+R7+Rjp+Rs+Rys5).

(161) nd(Y;61) = 10. Sequence: (R + R39), (Ro + R47), 3 (Ro + Rs3), 3 (Ry + Ra7), 2(R1 + Rao), 3 (R2 + Ru),
1 (R2+ Rs2), 3 (R3 + Rss), (R4 + Rag). 3 (Ro+ Ry + Ry).

(162) nd(Yi2) = 10. Sequence: (R + Rg), 3 (R2 + Rig), 1 (Rs + R13), 3(Rs + Rio). (Re + R27). 3 (Ri1 + Ro7),
$(R2+ Rag), 3 (Ry + Ri2). 3(Ri2 + Rap). (Ry + Ry7).

(163) nd(Y163) = 10. Sequence: 5 (Ry + Ri1), 3(Ri6 + Ri9). 3 (Ri7 + Rig), 3(R2 + R3), 3(Ry + R4), 3 (R2 + Ro3),
$(R2+Ry5), 3 (Ry+ Ryg), 3 (Ry + Ras), 3 (Ry + Rya).

(164) nd(Yj64) = 10. Sequence: (Ro + Rg), (Ri + Ri3), (R7 + Ry), (R3 + Ry1), %(Rl +Rs+Ry+Ri2+Rs+Ry1),
L(Ri+Rg+Rs + Ry + R7 +Ry1), J(Ry +Rig+ Ry + Rs + R + Ry1), 3(Ri + Rig + Rio + Ry + R + Ryp), S(Ro +
Re+Rs+ Rg + Ri1 + R7), (R4 + R7 + Ryy + Rs + Ri2 + Ryp).

(165) nd(Yie5) = 10. Sequence: 1 (Ry + Ra), §(Ri + Ry), $(R1 + Ras), 3(Ri + Ras), 3 (R1 + Ruo), §(Ri + Ry),
(Ri +Rp), 3 (Ro+ Ry + Ra3), 3 (R3 + Rg + Rpo). % (R3 + Ry + Rog).

(166) nd(Yi6) = 10. Sequence: % (Ro + Raa), 3 (Ria + Ra1), 3 (Ris + Ri9), 3 (Ra + R3), 3 (Ry + Ri3), 3 (Ra + Rn),
(R +Ry7), 3 (Ry+Ry), 3 (Ry + Ryg). 5 (Ry + Ros).

(167) nd(Yie7) = 10. Sequence: §(Ry + Ra), (Ri + Rip), §(Ri + Ris), 3 (Ri + Ra), 3 (Ri + Ri3), 3 (R) + Ry),
(Ri +Ri4), 3 (Ro+R7+Ry9), 3 (R3 + Ris+Rig), 5 (Rs + Ry + Rog).

(168) nd(Yie8) = 10. Sequence: 5 (Ry + Rig), 5 (Ra + Ri4), 3(Ro+ R12), 1 (Ro + Ri3), 3(Ro+ Ry + R3 + Ry + Ry),
J(Ro+ R4+ Ry +Rs+Rs), 3 (Ri +R3 + R| + Ry + R7), $(Ri + Ris + Ro+ Rs + Rig), 3 (R3 + Ri1 + Rg + Ry + Ry5),
$(Rs +Re + Ry + R7 + Rye).

(169) nd(Yi60) = 10. Sequence: } (R + Ri0), 3 (R + Ri2), 3 (R + Ri3), 3 (R + Ri4), 3 (Ro + Ry + Ry1 + Rg + Rs),
T(Ro+Rs+Ro+Ry+Rig), S (R +Rs + R7+ R+ Ro), (R + Ris + R3 + R4 + Rig). 1 (R3 + Ryj + Rg + Ro + R5),
(R4 +Ri1 + Ry + Ry + Rig).

(171 nd(Y171) > 8. Sequence: 5 (Ry + R3), 3(Ri +Ri2). 5 (R +R13), (Ri +Rs), 3 (Ro+ R + Rs + Ryj + Ry + Ryo +
Ry+Rg), ¥ (Ry+Rs +Ris+ Rg+ Rs + Ri1 + Ro+Ryg), 3 (Ro+ Ry + Ris + Rys +2Rg), 3 (Ro + Rs + R7 + Ry4 + 2R).
(172) nd(Y72) = 4. Sequence: 1 (Ry + R2), (Ry + Rio), 3(Ro + Rio + R3 + Rs + 2Ry + 2Ro + 2Rs + 2R7 + 2Rg),
1(R3+R7+Ro + Rio +2Rs + 2Rs + 2R4 + 2Ro + 2Ry 1 ).

(173) nd(Y73) = 10. Sequence: % (Ro + R37). 3 (Ro + Rag). 3 (Ro + Rsy). 3(Ri + Ra3). 3 (Ry + Rao). § (Ra + Rus).
$(R3+Rso), 1 (Rs + Rs7), 1 (Ri3 + Rsg), $(Ro + Ry + Ri3).

(174) nd(Y74) = 10. Sequence: (Ro + R9). (Ry + R14). (R3 + R). (Rs + Rys). 3 (Ro + Ri3+ R14). 3 (Rs + Ri3 + Rs).
3 (R +Rig+Ry7), (Ri + R4+ Ri7). 3 (Ro+Ris + Ry + Ry7). 3 (R + R3 + Ry + Ry7).

(175) nd(Y;75) = 10. Sequence: % (R3 + Rs). 3 (R3 + Ri7), 3 (R3 + Ra6). 3 (Rs + Ri2), 3(Rs + Rig), % (R + Ri1),
3 (Rg+Ry7), 1 (Ri1 + Ry7), 1 (Riz + Rig). (R3 + Ryp).
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(176) nd(Y176) > 7. Sequence: 3 (Ro + Ri3). 3 (R3 + R12), 3 (R7 + Rg), (Ro + Rys). (R3 + Rio), (R7 + Ryp). 3 (Ro +
R3 +R7).

(178) nd(Y178) = 10. Sequence: § (Ro + R22), 3 (R13+ Rao), 3 (Ris + Rig), (Ro + Ra1), (R + Ryo), (Re + Ri7), 3 (Ro +
Ri3+Ri7), 3 (Ro+Ris+Ry9), 4 (Ry+ Ri3 + Rys), 3 (R + Ri7 + Ryo).

(179) nd(Y179) = 10. Sequence: (Ro + R13), (R + Rys). (Ry + R14). (R3+ R12). (R4 + Ro). (Rs + Rg). 5 (Ro+ R3 + Rg).
$(Ro+Ro+R5), (R3+ Ry + Ris), 3 (Rg + Ris + Rys).

(180) nd(Y159) = 10. Sequence: (R + R2). (R; + Ri4). (Ry+ Ra1). (Rq + Rig). (Rs + R12). (R7 + Rig), 1 (Ro + Ryg +
Rio), }(Ri +Ris+Ry1), 3 (Ry+ R7+ Ry3), 3 (R + Ry + Ry + Ris + Ry + Rp2).

(181) nd(Y;31) = 10. Sequence: (Ryp+ Rj4), (R2 +R7),(R3+Ry), (R4 +R13), (Rs + Ryo), %(RO +Ri0+Rs+R| +R2),
L(Ro+Rig+Rs+R7+R13),  (Ry+Rio + Ro+R1 +R13), § (Ro+Ry1 + Ry + R1 + R13), § (R + Ry + Rio+ Rs + R13).
(182) nd(Y;g2) = 10. Sequence: (Rg + R4 + R13), (R1 + R3 + R12), (R5 + Rg + Ri0), (R7+ Rg + Ry), %(RO +Rs+R3+
Ry +Ri4), 1(Ro+ Ry + Ry1 + Rg + Rs), (Ro+ Rs + Rig + Ry + Ri3), 1 (Ro+ Ri3+ Ry + R + Rig), (R + Rpp +
Rio+Rs+Ri4), }(Ro+ Rio + Ry + Ry + R13).

(183) nd(Yjg3) = 10. Sequence: (Ro + Ris), (Ra + Rio), (R3 + R14). 3 (Ro+ Ri1 + Rs + R12). 3 (R + Ri3 + Rg + R14).
1(Ro+Ri1 +Ro+ Ry +Ri3), }(Ro+ Rij + Ry + Rs + R14), 2 (Ro + Ri1 + Rio + Ry + Ris), S (Ro+ Rz + Ry + Ry +
Ri4), 3(Ri + Ro+ Ryy + Rs + Ri4).

(184) nd(Y134) = 7. Sequence: (Rp + R3 + R4 + Rg), (R1 + Rg+ Rio + R9), (R, + R7+ Rs + R11), %(Ro +R3+ R4+
Rs+R7+Ry+ Ry +Ro+Ryp), S (Ro+R3+ Ry +Rs + Ry + Ry + Ry + Re + Rig), 2 (Ro+ Ry + Ry + Rs + Ry + Ry +
Ry +Rg+Rip), $(Ro+ Rs + R4+ Rs + Ry + Ry + Ry + Ry + Ryp).



